E E O®

=N

=

1. THA W (R B TR B S b= 2 — ik TF (GREL T )

2. fig T %5 P KI5 HRTHT T H 280-44f

3. T (4540 PR30 10H 10 HD FFB4EQ20214)1 H29R £T
T HCEIAIZE)  FR30FE10A 100D S3MFEQ2I4FE)3H19A £T
T W (2RI ) ERRS0E10HA 10 HS S F3HEQR214)5A17HET

N —— - RSB DR A B O DU




(28 (BA7: )

W T A%
THEL AR 4 %0
(HERLA) (HERR)
EPIE G| 8,035,916,040 7,440,663,000 (A) 595,253,040
AL SR o (€ ANED) 8,243,830,340 7,629,676,000 614,154,340
R H GG 2m]) 8,561,855,740 7,918,790,000 643,065,740
AL SR o A€ RIED) 8,547,727,340 7,905,946,000 (B) 641,781,340
BHFEASHH 7,218,720,000 6,684,000,000 (o) 534,720,000
AL SR = o (€ AN 7,405,490,100 6,853,791,000 551,699,100
EHEFFASBEGE2M) 7,691,174,400 7,113,504,000 577,670,400 (c)
AL SR = o (€ RIED) 7,678,482,600 (F) 7,101,966,000 (D) 576,516,600 (E)
O A -12,691,800 -11,538,000 (G) -1,153,800

(B0

(B)x (C) + (A) = (D) KONETHIED -« THAEHE T >
(C’)+(G) x0. 1=(E)

(D) + (B) = (F)




4w (FR) K 5 TR & S St f—digk T (T H) No. 1
# H 4 ki fié b2 OB | Bl | i HANL B Al &% =Gl R fii &
RN
I| gt 1.0 =& 6,563,602,114 1.0 = 6,551,826,534 | —11,775,580 sk
N 6,563,602,114 6,551,826,534 | —11,775,580 sk
Iim ey
1| HmaR 365,154,831 GHTE) + 1,458,686 (4f5) 1.0 =& 366,613,517 1.0 5V 366,589,854 -23,663 JHE
5 365,131,168 CHIED) + 1,458,686 (2f)
| BIGEEE 355,930,790 (HrE) + 1,308,301 (244&) 1.0 =& 357,239,091 1.0 5V 357,192,383 -46,708 JHAE
Z5 355,884,082 (HTE) + 1,308,301 (&)
I | T3 — K 1kl pES HE N 2V 14,277,888 1.0 2V 14,277,888 0
V| —E st 614,069,386 CHTE) + 2,988,663 (4f%) 1.0 =X 617,058,049 1.0 = 616,059,435 —-998,614 | B
ZEH613,070,772 CHTE) + 2,988,663 (445)
N 1,355,188,545 1,354,119,560 -1,068,985 JiAH
& &k 7,918,790,659 7,905,946,094 = —12,844,565 jBiE
xR (T TR0 T 7,918,790,000 7,905,946,000  —12,844,000 B%E
THE B Y 48 643,065,740 641,781,340 -1,284,400 %8
WA (THE) 8,561,855,740 8,547,727,340 | —14,128,400 s%H




& B (ROFR) BOG e & A=ty A — ek T 9 (R 4L T )

No. 2
4 w fié % s BT Bl & # S B i & # PGl R fi5#
MR A b S sk T
EAE TR
I |RETE 1.0 = 6,563,602,114 .o | X 6,551,826,534 -11,775,580 Js4E
N 6,563,602,114 6,551,826,534 -11,775,580 J4E




2w (ROR) KO e & SUE =t A — i T (R T ) No. 3

4 BN ] G o o&  HA B O & # # & By H O ok | =Gkt | k=
BT HE
O [AETEHE .o =X 5,537,879,057 1.0 | =X 5,537,651,937 -227,120 JBAH
@ |2 B80S iR L .o K 195,113,529 1.0 | K 195,113,529 0
@ |HBTET v LE 1.0 XK 167,173,767 1.0 | &K 167,173,767 0
@ |HMETLE .o K 225,346,849 .o | = 225,346,849 0
® |dbfbER T .o =X 70,696,657 1.0 | =X 70,696,657 0
® |ACfEEHhE AR - FEES T .o K 9,463,844 1.0 | K 9,463,844 0
@ | Hit TR i e 5R g 1.0 K 17,213,571 1.0 K 17,213,571 0
HhREPAZE T 1.0 =X 7,045,915 .o KX 7,045,915 0
@ |[PFxEdETE 1.0 XK 4,414,733 .o | &K 4,414,733 0
METK RS L 1.0 =X 1,372,892 .o KX 1,372,892 0
@ |fpisTE 1.0 K 327,881,300 .o K 316,332,840 ~11,548,460 JHH
N 6,563,602,114 6,551,826,534 ~11,775,580 J4H




40 (RPR) RO i & S 2=t 4 — i T (R L) No. 4
4 i ] G #H & B HE b & H # & B B ok | =Gkt | ik

O |[AEITEHE

1 |EHGR L5 1.0 XK 133,546,060 1.0 &K 133,546,060 0
2 |kTEHE 1.0 =X 454,463,555 1.0 =X 454,236,435 -227,120
3 |HIETE .o =X 150,647,660 .o X 150,647,660 0
4 |- ILE 1.0 =X 393,717,840 1.0 =X 393,717,840 0
5 |WHTE .o =X 289,026,079 .o X 289,026,079 0
6 |BkfH L .o K 367,940,660 .o =X 367,940,660 0
T |BkELE .o =X 832,154,236 .o X 832,154,236 0
8 |BER Y- T 5 .o K 624,724,840 .o = 624,724,840 0
9 [Pk IE 1.0 K 189,492,712 1.0 K 189,492,712 0
10 [fA 1% 1.0 =X 1,177,600 .o K 1,177,600 0
|V 1.0 K 29,304 1.0 K 29,304 0
12 | KLE 1.0 =X 294,512,339 1.0 =X 294,512,339 0
13 |BIR K OEWTEH .o =X 37,962,226 .o =X 37,962,226 0
14 |&R1TEHE 1.0 =X 287,716,509 1.0 =X 287,716,509 0
15 |EELE .o =X 41,943,358 .o =X 41,943,358 0
16 |BETHE .o K 500,122,139 .o = 500,122,139 0
17 (BT 1.0 K 21,958,816 1.0 K 21,958,816 0
18 [Pk 1.0 =X 228,647,780 1.0 =X 228,647,780 0




2w (ROPR) MO s & SU B At 4 — i T (R T59) No. 5

4 i ] G #H & B HE b & H # & B B ok | =Gkt | ik
19 |22y OO T % 1.0 =X 522,252,043 1.0 =X 522,252,043 0
20 |4y L 1.0 =X 58,969,600 1.0 =X 58,969,600 0
21 | F-Repkakin T 1.0 K 105,970,000 1.0 K 105,970,000 0
22 |BRERESUE LF .o =K 903,701 1.0 K 903,701 0
N 5,537,879,057 5,537,651,937 -227,120




2w (ROFR) MO i & Uk =Tt - T8 (S T )

No 439
E4 b 1% g 8 EXivA & # 7 Bz | Bl SfE 75| a4 ik
@ |kl
Wi T 1.0 = 31,167,372 Lo =X 30,707,272 ~460,100 | Jk4H
FEAERALSY 1.0 = 296,713,928 L0 =& 285,625,568 —11,088,360 JiAH
i 327,881,300 316,332,840  —11,548,460 JAH




